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Aufgabe II.2.4

a) Differenzengleichung: u1(t) + u1(t− t0) = u2(t)

Stoßantwort: u1(t) = δ(t)

h(t) = u2(t) = δ(t) + δ(t− t0)

b) Sprungantwort aus der Stoßantwort

hσ(t) =

t∫
−∞

h(τ)dτ =

t∫
−∞

(
δ(τ) + δ(τ − τ0)

)
dτ = σ(t) + σ(t− t0)

c) Übertragungsfunktion

h(t) = δ(t) + δ(t− t0) c sH(f) = 1 + e−j2πf0t

Nun braucht man ein paar Umformungen:

ejx = cosx+ j sinx sinα = 2 sinα cosα cos(α)2 = 1
2(1 + cos 2α)

⇒ H(f) = 1 + cos(2πf0t) + j sin(−2πf0t) = 1 + cos(2πf0t)− j sin(2πf0t)

= 2 cos(πf0t)
2 − j2 sin(πf0t) cos(πf0t) = 2 cos(πf0t) ·

(
cos(πf0t)− j sin(πf0t)

)
= 2 cos(πf0t)e

−jπf0t

|H(f)| = |2 cos(πf0t)| arg{H(f)} = −πf0t
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